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ACCOUNTANCY

( Commerce )

Full Marks : 100
Pass Marks : 30

Time : 3 hours
The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 (a-h) carfies 1 mark each : I x8I=N0E
Q. Nos. 2 to 6 carry 2 marks each 3 2x5= 10
Q. Nos. 7 to 11 carry 3 marks each : 8x5 = 15
Q. Nos. 12 to0 18 carry 5 marks each : 5x7 = 35
Q. Nos. 19 to 22 carry 8 marks each ; 8x4 = 32
Total = 100
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(2) (3)

1. Fill in the blanks/Choose the correct answer/Write True
or False of the following : 1x8=8

(g) Outstanding rent is a revenue/liability.

RIS AZHaf 5[5 F9/3% e @14 /57 T T @9

(a) Accounting records only the transactions of

() A bill of exchange is a conditional document.

R eReg o1 */$aeerss wfere |
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H2we ©I%l b qrer / el |

(h) The full form of CPU is A
CPU-«3 3= i =& 1

nature. 2. Define Accounting.
TR @9 s e 9 | R ke 71s |
' 3. What i i ion?
(b) The convention of conservation results in under- At S Gl ZEshlpiael
statement of SlicaIERIC b
AT oW FCT PP O 2 | 4. What is the principle of double-entry system of book-
keeping?
(c) The rule for Personal Account is the receiver and ooaaEscar -2k <mmfeq Qe § 2
NS thel oiver.
Jfsere BAEm @ Wﬁ SR SReRpR =R AR PR 5. What is Suspense Account?
= | : Zfrs o1 1 2
6. W : ; 0 1
(d) Trial Balance is an account/a statement/an D:ba:c’cS;s the function of Provision for Bad and Doubtfu
information. ?ﬁq -
TR R ACHREAT YT G SRR IR I S 2
@eafiEra b R/ a3 [fe /9 ©2 |
7. Write three distinctions between Bill of Exchange and
(e) The sale value of an asset after it becomes useless is Promissory Note.
called . . Rfem g3z aferfericay So foafb 1< 19 |
WWON%QGWCWWWWHW@' \
8. What is meant by adjustment entry in final accounts? Give

two examples of adjustment entry.

pers ot Al e Teree ) @R 2 ik afifes gio e
7S |
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10.

11.

12.

13.

(4 )

Write three limitations of incomplete records.

sy FifPRmeace foab Asrae! @9 |

Or / <1

\

Mention three qualitative characteristics of accounting
information.

@Wﬁﬁ%%@qﬁmﬁ@i@zﬁwwu

Explain money measurement concept.

T I 2RI AN R0 <6 |

Explain three benefits of computerized accounting system.

< PoSBRYS TRl ~afen fomfb Rl Seas 9 |
Or / 3241

Write three uses of database management system.

Database “fplel “@foq f5afe az@ &4 |

What is accounting standard? Mention its three
importances.

RREmR TH e 9 @R 97 [ gl TeEd 9 |

Show the distinction between Journal and Ledger.

AT Ga2 ARSACAT S¢Ey “Ne(F s |
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(S)

Or / 9231

From the following particulars, prepare Sales Book of
M/s Sharma Enterprise, deals in furniture :
GRIR Xl GBReiReEE FIfeE Zeag MNes crem @R & ey 3=
4% ] :
March 6 Sold on credit to Bimal Stores
R CORPIEE SIS (B! 29T
S almirahs @ ¥ 650
51 sEmEl 2felt 650 b TR
5 tools @ ¥ 50
56 o1 @fefs 50 b=l wes
Less 5% Trade Discount
M NS AT 5%
» 12 Sold to Bora Furniture House
R TR FoecE (61 7
100 chairs @ ¥ 75
100 " 75 Bl W
40 tables @ ¥ 60
407 (BRe 60 T TEH
Less Trade Discount 10%
W TEARF AT 10%
» 18 Sold on credit two old typewriters to Madan
and Co. @ ¥ 800
Tel g @A qASce qfo A BReRREE
800 Bl % (61 T
» 28 Sold to Satyabrata Baishya in cash
O (TP 5 HIFT (61 2]
1 sofa set @ ¥ 750
16 ¢ &5 750 BIe
1 dining set @ ¥ 900
16 ©igfi: ¢i6 900 T/
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(6) (7))

14. On 1st April, 2003, A drew a three months’ bill for 16. From the following incomplete records of Mr. Bhuban, a
¥ 10,000 on B, who accepted the same and returned it trader, ascertain the profit or loss of his business for the
to A. On 4th May, 2003, A discounted the bill with his year ended on 31.03.2014 : 5
banker @ 6% p.a. On due date, the bill was dishonoured ‘
by B and bank incurred noting charge of ¥ 15. Pass Mr. Bhuban, ¢854 JPTRE HaFRe incf PR (I
necessary Journal Entries in the books of A. 5 31.03.2014 wIffcy " 2€q ILIH TS~ &@F 9 -
2003 R 151 «fzice A; B-93 @7d T MM &0 10,000 B9l On 31st March, 2014, his position was as follows :
aa% Re Imm1 B Rafe T o I@ A-99 96 “m| 31 76, 2014 Ty OF T Ly
2003 7R 4% (& oiffcd A I=@ o 6% e @il ATr Srer |
reql iRy B R ek @ | WECE 15 Bl Akye T il S
=7 | ReRe A-93 9300 RIS sieal 2R feifrmam 99 0 ; (GT=PT)
Plant and Machinery 50,000
Or / <l PAPE! qR TZeIS
Furniture and Fixtures 22,000
What is transaction processing system? Discuss. A 99 GG '
- SR 2 Eee F) R 2 ST 99 | Bills Receivable 7,900
CoTeTCHe] 2T e 1o {51
Sundry Debtors 27,500
15. Show the distinctions between Book-keeping and RISERATIGE
Accountancy. S Sundry Creditors 14,700
AT 93 FRIARFACTR Weey 212 (Rl | fea “eam
Closing Stock 32,000
Or/i 9! I GO A
What do you mean by Generally Accepted Accounting Cash in Hand 1,200
Principles? Explain ‘Recognise all losses anticipate no gain’. RACO 5 Sy
s = oSl Cash at Bank 6,700
5 SEE 5 v 29 CF
ARSI azecaen AR @iE FIS 9 F @ CeTIPAT e o T

s w3 fice 2¢d, 2SN SCsl (A FH0o AI[ed =N 177 0 99
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( 8) | (9)

During the year, Mr. Bhuban introduced ¢ 12,000 as (i) Goods amounting ¥ 5,000 have been sold on credit to
additional capital and withdrawn € 9,700 for personal use. Ram but no entry has been made in the books.
His capital as on 1st April, 2013 was ¥ 99,750. :

p ‘ p 5,000 TR I8 qE Aece RE F91 ke [FR @i ok
TzdBrs Mr. Bhuban 12,000 SR SfoRe e MbIeN @<k it T g1l

Gfesr® T9EE &0 9,700 BT SEge 991 | 19 @fze, 2013 wifsed

'@ﬁ_‘iﬁﬁﬂfiﬁ{ 99,750 B | (iii) An amount of ¥6,000 spent for the erection of

machinery has been debited to Wages Account.

Or /=T @RS oG e 475 28 6,000 SR WgR Rond (oG <
AR
Explain the principles of determining Capital expenditure

and Revenue expenditure.

Ww@g 5 92 BT 5 R AR Mo SIcEs 71 | 18. State five distinctions between Statement of Affairs and
Balance Sheet. S

W ST {9 @) Tge #f@d W A6H N @Y |

17. Explain the errors not detected by a Trial Balance. S
Or / 93«1

ESHIRETACAR TR 431 1 *[A1 peresfer Seewar 39 |
Define Ledger. Explain its importance in recording of

Or / %Al business transactions.

: : . YRSRIGTR @l Wi | IR ERemeE PR s g e @19 |
The following errors were detected during the accounting
year before preparation of Trial Balance. Pass Journal

Entries to rectify them : 19. Prepare a Bank Reconciliation Statement as on
@I 9T q2CE @@mﬁﬁom oFge FIIF SICEl % Rl -S\,T{ng%{ 4q1 “Icd | 31.12.2007 from the following particulars : 8
G2 gAgE o AR e e afife fiem o S e RRAR (@ 31 Formm, 2007 wiffied <2 i e
1%@% ABS 9 :
(Y oods purchaged eop: Gimin gl jon giggiegi000 (i) Bank balance as on 31.12.2007 as per Cashbook was
was recorded in the purchase book as ¥ 400. =57 000
T IFER (AT 4,000 TRR g Ao T P T ) Fom R oweEE 31 Rorm, 2007 Oy e @R AR
J3e 400 B f2oimes orfPaa 4 =3 27,000 5= |
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( 10 ) - (11 )

(i) Cheque paid into bank on 25th December, 2007 (c) Balancing of original entry
& 7,500 but not collected by bank before 31.12.2007.
y 2R 2R 12
25 frma, 2007-9 7,500 SR (52 TR &N (reTl =W s
5 31 frEa, 2007 2R@ ez I | (d) Methods of charging depreciation

S (I A ©
(iti) Cheque worth ¥ 9,500 issued prior to 31.12.2007 were R

not presented to the bank till 31.12.2007.

31 R, 2007-97 wel 9RE FW 9,500 TRE (5%
31 g, 2007 “Rf@ AR & WIS 7ike S 2 |

20. The Machinery Account of a firm showed a balance of
F75,000 as on 01.01.2000. A part of the machinery
(whose book value on 01.01.2000 was ¥ 5,000) was sold

for ¥ 3,500 on 01.04.2000.
(iv) Interest on deposit credited in the Passbook ¥ 250 but

not recorded in the Cashbook. On 01.09.2000 new machine was purchased with
¥ 24,000. The firm charges depreciation @ 10% p.a. under
o[ I TR 87CF I 250 B (FE6 Fq W g 7o J2ce Al reducing balance method and 'accounts are closed on
CoTl 2 | 31st December each year.
Pre M i in th i
(v) Bank charges ¥ 300 recorded in the Passbook only. febe s e b ooks ofihe el 2
1CEE 9 9% 300 Bl (NG Y <20 AR (oI 2R | @ 9o R afedim 01.01.2000 wiffey Izeifens =@
: 75,000 Bl 25 1 GRR @i @36 SRd (01.01.2000 @ISy AE
Or / SgAT 2 f&E 5,000 5F1) 01.04.2000 wifey 3,500 Bem K@l <1
24 | :
Write in brief on the following : 2x4=8 01.09.2000 wiffcy 2w g6 T @R 24,000 Br A |
9 RO 10 oM 2E S R 2
e S’ ¢T3 2R @ Tafere T 2T g e @R afe
=3 31 feered 2o e = |
(@) Source document eifwpriba <Ree wgeiffen e ey e
T wfer Or / %11
Who is a holder of a negotiable instrument? Discuss the
(b) Single-entry system rights of a holder of a negotiable instrument.
GF-23f8 R mfe TEBIAISN TR 4R (F ? OF SRPRSET STt 4 |
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( 12 )

21. Write eight advantages of subdivision of Journal.
IR Rereca =i R_ar @9 |

Or / S2d1

Prepare a Triple-column Cash Book from the following

information :

iR suefm 7@ gFib for-geTe oM 92 28 I

2014
Oct 1 Cash in hand

Z[CS 9% Sl

Cash at bank

RCP 157 &1

» 4 Cash sales
7o Ry

» 7 Deposited into bank
ICE Sl T 29
” 9 Received cheque from Mr. Barua

which is deposited into bank on
the same day

Mr. Barua-9 (AGF NGy (535 GiaMca TS
S (e ZE

/135A

- 38,000

25,000

15,000

3,000

2014
Oct

»

»

”»

»

10

18

23

25

30

(13 )

Rent paid by cheque

COCPS RIS el (el =&
Paid by cheque to Mr. K ¥ 6,700 in

full settlement of his debt of ¥ 7,000

6,700 3R &% fics Mr. K-9 7,000 5=F
BoreEs N =1 ==

Withdrawn from bank for office use

T (AP AR IRLAET & S29 F91 39

Withdrawn from bank for personal use

TRF (AP W&T® IR Gl HZJe F T

Salaries paid

CIO (WS 25

7,000

3,000

2,000

6,000

22. Following is the Trial Balance of Rahul, a businessman, as
on 31st December, 2004. You are required to prepare :

el AT 99 TP 2004 3eem 31 Rovreas Tge Fewmem Mo
e T

/135A

(i) Trading Account.
-7 IR erge 9
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( 14 )

(ii) Profit and Loss Account for the year ended on
31.03.2004 and a Balance Sheet as on that date : 8

2004 AR 310 R e-(aoT 2R @R (iR, If{ed G3ib

THE g 2RES I9

Debit (cTR5) 7 (o)
Building (S37) 1,60,000
Opening Stock (Z=fEF Ig© ) 64,000
Furniture (SFEE%4) 50,000
Sundry Debtors (Rfew ) 80,000
Plant and Machinery
@@ GR Feree) 1,50,000
Purchase (&%) 2,80,000
Bills Receivable (2177 &=) 45,000
Carriage inward
RS ERED)) 2,400
Carriage outward
(Reafre “IfFaz) 2,100
Discount allowed (3181 27) 1,400
Bad Debts (SFARAT ) 1,900
Return inward (R&¥ @Fe9) 3,600
Salaries (C399) 48,000
Wages (FE9) 46,000
Cash at Bank (ICF #9% &) 20,500

Total (%)  9,54,900
Adjustments :
LRSS :

(i) Closing Stock—¥ 75,000

R/ g 2I—75,000 I

Credit (c&/h) & (or)
Sundry Creditors
(R “neam) 60,000
Bills Payable (zt7a @) 25,000
Return outward (& (F99) 3,000
Provision for Doubtful Debts
(e 9 7[[E) 2,500
Capital A/c (Je14) 3,84,400
Sales (Re) 4,80,000

Total (%)  9,54,900

(ii) Outstanding Salaries— 6,000 and Outstanding

Wages—% 5,000

were (qei—6,000 Bl G Bes gRi—>5,000 Bl

/135A

( 15 )

(iti) Provision for Bad Debt is to be maintained @ 5% on

Sundry Debtors
CTARIGER 82T 5% 2cd SR W &0 AfE 2o 21

(iv) Depreciation is to be provided as follows :

/135A

e e s 9 F90e 2
On Building @ 2%
T @ @ 2%=%
On Plant and Machinery @ 15%
TZeIfe @R FerFEd 8 @ 15%
On Furniture @ 20%
e 829 @ 20%

* % %k
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